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2.	Bez	 Gleichungen	 AB	4	
	
1. Gib	jeweils	die	Lösungsmenge	an,	wenn	die	angegebene	Bedingung	erfüllt	werden	soll	

und	G	=	ℤ	ist.	
Bsp.:	x	<	2	 à	 𝐿 = {1, 0, −1,−2… }	
	
a) x	>	-2		 à	 	
b) x	<	7	 à	 	
c) x	<	1,8	 à	 	
d) x	>	0	 à	 	
e) 4	<	2	 à	 	
f) x	>	-2,3	 à	 	
g) x	<	-1,7	 à	 	
h) -3,2	>	x	 à	 	
	

2. Löse	die	Ungleichung	nach	x	auf.	Gib	die	Lösungen	an,	wenn	G	=	ℤ	gilt.	
a) 6x	–	11	<	7x	+	9	
b) 10	+	x	–	2	>	10	–	2x	
c) 0,5x	+	1	>	0,6x	–	5,7	
d) 18x2	–	2x	>	18x2	+	9x	

	
3. Löse	die	Ungleichung	nach	x	auf.	Gib	die	Lösungen	an,	wenn	G	=	ℤ	gilt.	

a) 5x	+	3	<	2x	–	3	
b) 6(x	–	2)	<	9x	–	8	
c) 3x	–	6	>	–3(1	–	x)	
d) 5(3x	–	2(2x	+	5))	+	x	+	30	<	0	

	


